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1] Bm=AK JAL | 13,050 42% 47% 1] ma=AR JAL _|_10,000 56% 59%
7| ma=fam JAL | 21,300 42% 45% 2 | ma=—tem JAL | 12,500 66% 68%
3| Bmm=iliE JAL | 19,450 42% 45% 3 | mm=4LiE JAL | 12,500 63% 65%
4 mE=AE JAL | 23,650 42% 45% 4 ma=0n JAL | 12,500 69% 71%
5 | KlR=1am JAL | 12,700 42% 47% 5 | AR=12M JAL _|_10,000 54% 59%
6 | KBR=#LI% JAL | 23,950 42% 45% 6 | KBR=4LiE JAL | 12,500 70% 71%
7| AR=% JAL | 19,850 42% 45% 7| KR=H% JAL | 12,500 63% 66%
8 | mm—LI% JAL | 29,650 42% 44% 8 | fmE=4Li% JAL | 12,500 76% 7%
9 | BE=B% JAL | 15,950 42% 46% 9 | EE=H% JAL _|_10,000 64% 66%
10] Bmm=skimal JAL | 23,850 42% 45% 10| Em=rmal JAL | 12,500 70% 71%
1] Bmm=8)il JAL | 22,900 42% 45% 1] mm=18)il JAL | 12,500 68% 70%
12| Am=HI% JAL | 22550 42% 45% 12| B JAL | 12,500 68% 70%
3] BR=thEEE JAL | 22250 42% 45% 13 5 JAL | 12,500 67% 69%
14| BE—EE JAL | 18,200 42% 46% 14 JAL | 12,500 60% 63%
HE Rt JAL | 17,450 42% 46% 15 JAL | 12,500 58% 61%
6] Bmm==; JAL | 17,100 42% 46% 16 JAL | 12,500 58% 61%
17| e =mkE JAL | 14,250 42% 47% 17 JAL _|_10,000 59% 63%
18] ma=ILF JAL | 10,550 42% 48% 18 JAL _|_10,000 45% 51%
19] Bma=/ JAL | 12,700 42% 47% 19 JAL _|_10,000 54% 59%
20| B =miEE JAL | 16,800 42% 46% 20 i JAL _|_10,000 66% 68%
21| EE=mEL JAL | 17,450 42% 46% 21 JAL _|_10,000 67% 69%
2| BE=LE JAL | 17,850 42% 46% 22 JAL _|_10,000 68% 70%
23| EEm=LOFE JAL | 20,050 42% 45% 23 7 JAL _|_10,000 71% 73%
24| B =thE JAL | 18,200 42% 46% 24 JAL _|_10,000 68% 70%
%] BE=fEE JAL | 17,100 42% 46% 25 JAL _|_10,000 66% 68%
26 BE=mh JAL | 17,100 42% 46% 26 JAL _|_10,000 66% 68%
27| mE=#A JAL | 18,500 42% 46% 27 JAL _|_10,000 69% 71%
28| BE=g4l JAL | 18,200 42% 46% 28 JAL _|_10,000 68% 70%
20| Bma=dtAM JAL | 21,300 42% 45% 29 JAL | 12,500 66% 68%
30| mE=AH JAL | 20,650 42% 45% 30 JAL | 12,500 65% 67%
3| BE=E5 JAL | 22550 42% 45% 31 JAL | 12,500 68% 70%
32| mE=fEA JAL | 21,300 42% 45% 32 JAL | 12,500 66% 68%
33| mE==ig JAL | 21,300 42% 45% 33 JAL | 12,500 66% 68%
| AEn=—ERE JAL | 22550 42% 45% 34 JAL | 12,500 68% 70%
3% mm=EEAS JAL | 26,800 42% 45% 35 BEXRE JAL | 12,500 73% 74%
36| BE=REE JAL | 10,500 42% 48% 36 JAL _|_10,000 45% 51%
37| ABR=%m5l JAL | 28,050 42% 45% 37| AR=% &5l JAL | 12,500 74% 75%
38| KBR=1EJII JAL | 26,500 42% 45% 38| KER=1BJII JAL | 12,500 73% 74%
39| XR=BH JAL | 21,300 42% 45% 9| XR=BH JAL | 12,500 66% 68%
40| AR==iR JAL | 21,900 42% 45% 40 JAL | 12,500 67% 69%
41| XR=M@ JAL | 19,150 42% 46% 41 JAL | 12,500 62% 64%
2| KR=1t& JAL/JEX| 20,400 42% 45% 2| XR=1t% JAL/JEX| 12,500 64% 67%
43| KBR=1U# JAL | 18,500 42% 46% 43| KBR=ILF JAL | 12,500 61% 63%
14 KR=1IE JAL/JEX| 17,850 42% 46% 44| KR={lE JAL/JEX| 12,500 59% 62%
45| AR=%85 JAL | 17,400 42% 46% 45| KR=%28 JAL | 12,500 58% 61%
46| KIR=3%18 JAL | 16,800 42% 46% 46| KR=%8 JAL _|_10,000 66% 68%
47| XR=EI5 JAL | 14,900 42% 47% 47| XR=EI5 JAL _|_10,000 61% 64%
48| KIR=FEX JAL/JEX| 13,650 42% 47% 48| KIR=FEA JAL/JEX| 10,000 57% 61%
29| XR==15 JAL | 13,650 42% 47% 19| XR=215 JAL__| 10,000 57% 61%
50| AR=FE'R JAL/JEX| 15,550 42% 46% 50| AR=ER JAL/JEX| 10,000 63% 66%
51| ABR=BZABE __ |JAL/JEX| 21,000 42% 45% 51| AIR=®ZEALS __ [JAL/JEX| 12500 65% 67%
52| BEE=fLIR JAL | 21,650 42% 45% 52| AEE=fLIR JAL | 12,500 66% 68%
53| 2EE=dIEk JAL | 24,600 42% 45% 53| ZmE =Sk JAL | 12,500 71% 72%
54| ZEE=—ENBEE | JAL | 23,950 42% 45% 54| ZEE=ENBERE | JAL | 12,500 70% 71%
55| AEE=—ER JAL | 18,850 42% 46% 5| AEE=—ER JAL | 12,500 62% 4%
56| ZEE=FE JAL | 16,650 42% 46% 56| ZHE=TkE JAL | 12,500 56% 59%
51| AEE=1tE JAL | 17,850 42% 46% 57| AEE=1tE JAL | 12,500 59% 62%
58| ZEE=ILT JAL | 16,450 42% 46% 58| ZEE=ILF JAL | 12,500 56% 59%
59| ZEE={lE JEX__|_16,450 42% 46% 50| AEE=IlA JEX__|_12,500 56% 59%
60] ZEE=98 JAL | 14,800 42% 42% 60| ZEE=F8 JAL _|_10,000 61% 61%
61 ZEE=HIL JAL | 13,650 42% 42% 61 ZEE=#L JAL _|_10,000 57% 57%
62| ZEE=—S4 JAL | 14,950 42% 47% 62| BAEE—S4 JAL _|_10,000 61% 64%
63| ZEE=1a JAL | 14,750 42% 47% 63| AEE=1am JAL _|_10,000 61% 64%
64| 2EE=EB JAL | 18,500 42% 46% 64| ZEE=EB JAL _|_10,000 69% 1%
65| ZEE=fA JAL/JEX| 16,950 42% 46% 65| ZEE=fA JAL/JEX| 10,000 66% 68%
66| ZEE=FER JEX__|_18,500 42% 46% 66| BEE=EE JEX__|_10,000 69% 71%
67| ZEE=IE JAL | 22,400 42% 45% 67| AEE=IE JAL | 12,500 68% 69%
68| EE=1l%a JAL | 25,250 42% 45% 68| =TI JAL | 12,500 71% 73%
69| e = JAL | 13,750 42% 47% 69 | fom =40 JAL _|_10,000 58% 61%
70| fE@=1ALl JAL | 12,050 42% 48% 70| fEm =Ll JAL _|_10,000 52% 57%
71| EE=215 JAL | 11,450 42% 48% 71 EE=215 JAL | 10,000 49% 54%
72| #LIE=Zm5] JAL | 12,400 42% 47% 72| ALiR= % a0 JAL _|_10,000 53% 57%
73| ALIR=B R JAL | 12,400 42% 47% 73| ALIE=5 JAL _|_10,000 53% 57%
74| ALIR=FKE JAL | 14,350 42% 47% 74| #LIE=FLE JAL _|_10,000 60% 63%
75| ALIR=1E% JAL | 14,650 42% 47% 75| ALIE=1E& JAL _|_10,000 60% 64%
76| ALIE= L JAL | 16,800 42% 46% 76 | ALIE=IL JAL _|_10,000 66% 68%
77| #IE=1IE JAL | 16,450 42% 46% 77 | ALIE={IE JAL _|_10,000 65% 67%
78| ALIR=[L8 JAL | 26,500 42% 45% 78| ALIE=15E JAL | 12,500 73% 74%
79] ERE=—B%AE | JAL | 13400 42% 47% 79| EEEB=BEAE | JAL | 10,000 57% 60%
30| BRE—fEs8 JAL | 15550 42% 46% 80| BRE—EZ5 JAL | 10,000 63% 66%
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1| BE=3% JTA 23,650 42% 45% 1| BE=3% JTA 12,500 69% 71%
2 | KER=3R% JTA 19,850 42% 45% 2 | Kix=3B% JTA 12,500 63% 66%
3| EM=3%H JTA 15,950 42% 46% 3 | =M= JTA 10,000 64% 66%
4| KR=EH JTA 27,150 42% 44% 4| KXR=%H JTA — — —
5| HR=Fh1iE JTA 34,400 42% 44% 5| EmE=si8 JTA 12,500 79% 80%
6| RE=F= JTA 32,200 42% 44% 6| RE==H JTA 12,500 77% 78%
7| Xr=%1i8 JTA 28,050 42% 45% 7| Kr=%18 JTA 12,500 74% 75%
8| ALE=FAI JTA 30,750 42% 44% 8| AoE=FHIE JTA 12,500 76% 77%
9 | EE=31% JTA 27,150 42% 44% 9 | EE=3R% JTA 12,500 73% 74%
10| /M=3F35R JTA 23,650 42% 45% 10| /MR=FF55 JTA 12,500 69% 71%
11| 2EE=#% JTA 22,400 42% 45% 11| 2HE=8% JTA 12,500 68% 69%
12| ML= JTA 19,850 42% 45% 12| RL=3% JTA 12,500 63% 66%
13| Ex=3% JTA 18,250 42% 46% 13| SH=#% JTA 10,000 68% 70%
14 ML= JTA 18,150 42% 46% 14 WIL=35% JTA 10,000 68% 70%
15[ JthI=3R% JTA 15,950 42% 46% 15| kAN =FR% JTA 10,000 64% 66%
16| BFE=FHIE JTA 13,350 42% 45% 16| MEFE=FH1E JTA 10,000 57% 59%
17| =21 JTA/RAC| 10,150 42% 45% 17| BEFE=215 JTA/RAC| 7,000 60% 62%
18| AlE=E%H JTA/RAC| 6,900 42% 44% 18| AiE=E%H JTA/RAC| 7,000 41% 44%
19 WHF=AXKE JTA/RAC| 6,850 42% 44% 19| BE=AXE JTA/RAC| 7,000 41% 43%
20| AiE=5EF JTA/RAC| 6,850 42% 44% 20| RE=5BE JTA/RAC| 7,000 41% 43%
21| BEH=58E RAC 18,400 42% 45% 21| A& =58 E RAC 12,500 61% 63%
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1] KiR=18M JAC| 12,700 42% 47% 1] KBr=42H JAC| 10,000 54% 59%
2| KBR=%8 JAC| 16,800 42% 46% 2| KBR=%% JAC| 10,000 66% 68%
3| KBr={EMFED>H& | JAC| 13,350 42% 47% 3| KBR={EM=EDHL [JAC| 10,000 57% 60%
4| xpR=19/M{BE |JAc| 7200 42% 42% 4] Kfr=239/t){BE [JAC| 10,000 19% 19%
5| KRR =[Sk JAC| 12,950 42% 42% 5| KRR =[xk JAC| 10,000 55% 55%
6| KR=HE JAC| 11,150 42% 45% 6| KBR=HZE JAC| 10,000 48% 51%
7| KBR=#1L JAC| 9,850 42% 49% 7| KBr=#:1l JAC| 10,000 41% 48%
8| KBr=K% JAC| 11,200 42% 48% 8| Kr=X% JAC| 10,000 48% 53%
9| KIR="=1% JAC| 13,650 42% 47% 9| KfR==l& JAC| 10,000 57% 61%
10] XIR=FERE JAC| 15,550 42% 46% 10| XKIR=ERS JAC| 10,000 63% 66%
1| xpR=EFE JAC| 18,900 42% 42% 11| KR=%EF5 JAC| 10,000 69% 69%
12| fERE={EMEDHLL | JAC| 20400 42% 45% 12| BE={FME>HLE [JAC| 12,500 64% 67%
13| EE=HE JAC| 14,650 42% 47% 13| fEf=HE JAC| 10,000 60% 64%
14| EE=EL JAC| 14,350 42% 44% 14| EE=ES JAC| 10,000 60% 61%
15| @ =#1L JAC| 12,050 42% 48% 15| &R =40 JAC| 10,000 52% 57%
16| EE=ERE JAC| 10,800 42% 48% 16| fEF=FERE JAC| 10,000 46% 52%
17| #LiE={EMFEDLL | JAC| 20,650 42% 45% 17| AIR={EMFEDLE [JAC| 12,500 65% 67%
18| HE=[RIX JAC| 7150 42% 42% 18] HE=[RIX JAC| 10,000 19% 19%
19| EEfE==I5 JAC| 13,750 42% 47% 19| REFE=FkE JAC| 10,000 58% 61%
20| EEIR B =Pl JAC| 17,100 42% 44% 20| ERE=FELL JAC| 10,000 66% 67%
21| BRE=L5E JAC| 13,750 42% 47% 21| BRE=IL5% JAC| 10,000 58% 61%
2| ERE=Z JAC| 16,800 42% 44% 22| ERE=EN JAC| 10,000 66% 67%
23| ERE=#IL JAC| 14,900 42% 44% 23| ERE=WIU JAC| 10,000 61% 63%
24| ERE=BFE JAC| 7,300 42% 42% 24| ERE=EFE JAC| 10,000 21% 21%
25| ERE=RAE JAC| 8,050 42% 42% 25 BRE=EAS JAC| 10,000 28% 28%
2| ERE=%ZXAE |JAC| 13400 42% 47% 26| EIRE=®%KE |JAC| 10,000 57% 60%
27| ERE=2RE JAC| 14,100 42% 42% 27| ERE=ERE JAC| 10,000 5%% 59%
28| ERE=XkBE |JAc| 17.100 42% 42% 28| EERE=HKEH |JAC| 10,000 66% 66%
2| ERE=5®% JAC| 18,000 42% 42% 29| BRE=5H JAC| 10,000 68% 68%

30| BERE=2RE |JAac| 5500 42% 42% 30| BEAE=ERE |JAC| — — —
31| mEARE=@E2E |uac| 7700 42% 42% 31| BEXE=25 |JAC| 10,000 25% 25%
32| mERE=#xBEH|JAC| 9750 42% 42% 32| BEKRE=iMKRE| JAC| 10,000 40% 40%

33| MKBRE=54 |[JAC| 5800i 42%  42% 33| MAKBRM=5H [JAC| — — —
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1 | #Lig =4I HAC | 10,000 49% 54%
2 | E%=#I% HAC | 10,000 49% 54%
3 | ALIR=FREE HAC | 10,000 40% 44%
4 | EX=KEE HAC | 10,000 40% 44%
5 | HEE=/BJI HAC | 10,000 46% 52%
6 | BHEE=S)IE% HAC | 10,000 61% 64%
7 | HEE=BER HAC | 10,000 36% 40%
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